N = 0l & At & Ml A

20178 &= 20 A LEHSH WEW
EA: WEI
MM SE2HO HZWSAMUHAHHA &S
S HERS OFE 2|8 X4 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
wE 12,326,173 16,389,738 N4 ,063,565
= 19,500
Xl 1,375,000
& 452,851
Al 10,478,822
SSH WzWEAMEUAHA &2 7,519,972 7,069,685 450,287
= 19,500
o 424,851
Al 7,075,621
HEznsE 8N 2HI|8t =4 7,501,972 7,051,685 450,287
= 19,500
o= 424 851
Al 7,057,621
AMUBHA EBXXEIGCA NESY ZAIEA 30,000 80,000 A 50,000
207 I & d| 30,000 80,000 A 50,000
01 A& 2| 30,000 80,000 A 50,000
OAMUHA 88X - X WSEERA 30,000
nszd HEAHE =8 40,000 0 40,000
207 O 4| 40,000 0 40,000
01 A 40,000 0 40,000
Onsz2d HIHNE(WENN DEAL S)
e 40,000
AMUHBHA X &2ABAZ X2 1,698,837 1,698,837 0
307 2I2t0| ™ 1,698,837 1,698,837 0
09 2£HHEXZ 1,698,837 1,698,837 0
OAMUHA BXesd 2ABAZ(AMIE, EXE
) 1,698,837
2494 |ItExZ2 A 3,531,000 3,531,000 0
307 QI2t0| ™ 3,531,000 3,531,000 0
09 2LHHEXS 3,531,000 3,531,000 0
OMgEXY RIIEX=2 XI&
294,250,000 12& 3,531,000
S+gH MBS X2 77,700 0 77,700
307 giztol A 77,700 0 77,700
09 2LHHEEXZ 77,700 0 77,700
OAMUWHA MEX S (M0 NEII=E0) 77,700
249K MEXNE N2(EX) 712,157 697,573 14 /584
o=} 230,712
Al 481,445
307 2I2t0| & 712,157 697,573 14 584
= 230,712
Al 481,445




2AMd: DS
M S SH0 HswsSHMHIATMA =2HE
S sns AFH 20|18t =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 712,157 697,573 14,584
O=2=gH MEXNAS(2872) 712,157
= 230,712
Al 481,445
snss2dd 411 € B+FH| 533,314 482,455 50,859
201 L2l 194,314 193,455 859
01 At 22l 169,770 169, 170 600
OuSYRFL AR 22| 27,210
OHANS(AESXHE)S AEEER
30,0003 *396CH x123] 142,560
02 =24l 24,544 24,285 259
ONSYRFE BRI 24,544
401 Al HIZ 2018 339,000 289,000 50,000
01 A& HI 339,000 289,000 50,000
OAlLiH A s2& & 200,000
SUHIE HASZE &X
10,000,000 * 157K 2~ 150,000
ANUXSE HASZE AX
10,000,000& *5H A 50,000
OAUHA s2d 24 & FH 60,000
OAUH A S2E FEE A2E MNF 10,000
OBfa =% gtdlel uHd s =cl 5,000
OAMUWH2A 33X X8 X L =2 10,000
OAUHA SZE = SHIA A 5,000
OAllit A s2& 22 E 10,000
OEANs2E 2+3Hl 39,000
EAISZE 4 12,000,000 «2J4 2 24,000
BHAIsZ2E 2317 &1
2,000,000 «5J4 & 10,000
BEANsZE FNE* 5,000
GZHEDOIE AIEMA 6,000 4,000 2,000
206 = Hl 6,000 4,000 2,000
01 MHZ 4l 6,000 4,000 2,000
OHDIE at&d BHAEE 78 6,000
ZOHCIBSEA 2H(EX) 252,000 288,000 A 36,000
< 75,600
Al 176,400
307 gl2tol & 252,000 168,000 84,000
< 75,600
Al 176,400
05 RIZHRIE 3 252,000 168,000 84,000
OFHZSEA 2EXA 252,000
< 75,600
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| Al 176,400
VALK& AL 33,000 6,000 27,000
307 gl2tol & 10,000 6,000 4,000
02 IS AHEE 10,000 6,000 4,000
ORYE2EIa wsSZEHIXA 10,000
308 XXM SO A 23,000 0 23,000
10 B2 SO HH A 23,000 0 23,000
SASHHSHULINAY TS 23,000
BAXEAANE(BX) 71,604 85,020 A 13,416
< 35,231
Al 36,373
307 21201 A 71,604 85,020 A 13,416
< 35,231
Al 36,373
02 UAFAAFEX 71,604 85,020 A 13,416
OSsteiAl 29 37,500
= 25,000
Al 12,500
OHARSB ItEx2g N2 AY 34,104
= 10,231
Al 23,873
OAEOIE ANENL(EX) 40,000 16,000 24,000
< 17,500
Al 22,500
402 RI2FXt20l ™ 40,000 16,000 24,000
< 17,500
Al 22,500
02 RIZE X2 AL EZ (OIS ) 40,000 0 40,000
OH3SEHAHOIE HE= A 40,000
< 17,500
Al 22,500
AN A CHEXE XT3 A 189,000 135,000 54,000
402 RI2EX20| ™ 189,000 135,000 54,000
01 212t 2 A E = (RERTH ) 189,000 135,000 54,000
OAMUHA “FHA GHX X3 A
27,000,000 =7CH 189,000
AMUHA BSAAE XA 83,000 0 83,000
401 AIEHI L 20 83,000 0 83,000
01 A& HI 83,000 0 83,000
OAlLtIH A &= &) ¢
1,000,000 *430H A 43,000
OAUHA 85 AIAE 25 14 40,000
HEnsSs2dd 41 ¢ Ex-FH(EX) 19,360 24,200 A 4,840
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 5,808
Al 13,552
401 Al HI L 2 THHI 19,360 24,200 14,840
< 5,808
Al 13,552
01 Al&H| 19,360 24,200 N4 ,840
OHASZY BYT TYAL SXAY 19,360
= 5,808
Al 13,552
H&eH 222 EWE(0RT)ALY 60,000 0 60,000
& 30,000
Al 30,000
307 QI2t0| ™ 60,000 0 60,000
< 30,000
Al 30,000
02 QI2tAMAIE E =X 60,000 0 60,000
OAH =SB A(DRT) 24 60,000
o=t 30,000
Al 30,000
=QUSE “AaHA 22 AAE 2H 60,000 0 60,000
= 30,000
Al 30,000
401 AlEHIZ 201 Y| 60,000 0 60,000
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Ox=QUSE T8HA 89 AlAE 2H 60,000
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OEAl SN 22X X3 65,000
= 19,500
Al 45,500
WECH X 18,000 18,000 0
WECH X 18,000 18,000 0
203 E R F=&d| 3,000 3,000 0
03 Al ZH =X 2= XIH| 3,000 3,000 0
OuUESHR AIEFA 3,000
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HM: orA™
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S WSA

24 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ousdsl & FES |A2a
450,000, 000& *0.72% 3,240
OunsSEXE &4 & FHy|
90,000,000& *0.90% 810
OX&EEM AX 2 HHl 450,000,000 *0.72% 3,240
EHAIE 2e] 220,000 400,000 A 180,000
401 Al HIZ 201 8] 220,000 400,000 A 180,000
01 A& HI 218,560 396,940 A 178,380
ONENEZ FHIALY 200,000,000 *99.28% 198,560
ONENEZ ANEE FANEFAY 20,000
03 AIE S THHI 1,440 3,060 A 1,620
ONEANEZ FH ALY 200,000,000& *0.72% 1,440
Helo] nsetd 60,000 90,000 230,000
Xl 25,000
Al 35,000
25379 22 10,000 10,000 0
401 A& HIZ 201 8] 10,000 10,000 0
01 A& HI 9,892 9,892 0
O0eol Es329 A= RAE=*
10,000, 0002 *98.92% 9,892
03 Al S THHI 108 108 0
O0egol B39 A= RAE=s
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Helol 25729 W ALY 50,000 80,000 230,000
Xl 25,000
Al 25,000
401 Al HIZ 201 8] 50,000 80,000 A 30,000
Xl 25,000
Al 25,000
01 A& HI 49,460 79,280 229,820
O0gol B39 Ha A
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Xl 25,000
Al 24,460
03 A& =2 I 540 720 A 180
O0gol Esa49 Ha A
50,000,000& x1.08% 540
SHE =XE3 =4 3,011,500 3,262,500 A 251,000
Xl 1,350,000
Al 1,661,500
SSFAE ZHAY 246,500 3,262,500 A 3,016,000
201 LBH2E| 21,500 17,500 4,000
01 At 22l 19,500 15,500 4,000
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